EAST POINT SCHOOL
CLASS X

SUBJECT-ENGLISH
PRACTICE WORKSHEET 1

Q1. Read the passage given below and answer the questions that follow:

I. The Beatles not only sparked the British Invasion of the US, they became a globally influential phenomenon
as well. From the 1920s, the United States had dominated popular entertainment culture through most counties
of the world, via Hollywood movies, jazz, the music of Broadway and Tin Pan Alley and, later, the rock and
roll that first emerged in Memphis, Tennessee.

I1. Many artists have acknowledged the Beatles' influence and enjoyed chart success with covers of their songs.
On radio, their arrival marked the beginning of a new era; in 1968 the programme director of New York's
WABC radio station forbade his DJs from playing any "pre-Beatles™ music, marking the defining line of what
would be considered oldies on American radio. They helped to redefine the album as something more than just
a few hits stuffed with "filler", and they were primary innovators of the modern music video. The Shea Stadium
show with which they opened their 1965 North American tour attracted an estimated 55,600 people, then the
largest audience in concert history; Spitz describes the event as a "major breakthrough... a giant step toward
reshaping the concert business". Emulation of their clothing and especially their hairstyles, which became a
mark of rebellion, had a global impact on fashion.

I11. The Beatles changed the way people listened to popular music and experienced its role in their lives. From
what began as the Beatlemania fad, the group's popularity grew into what was seen as an embodiment of
sociocultural movements of the decade. As icons of the 1960s counterculture, they became a catalyst for
activism in various social and political arenas, fuelling movements such as women's liberation, gay liberation
and environmentalism.

According to Peter Lavezzoli, after the "more popular than Jesus" controversy in 1966, the Beatles felt
considerable pressure to say the right things and "began a rigorous effort to spread a message of wisdom and
higher consciousness".

Answer the following questions briefly:

(a) How did The Beatles become a global phenomenon?

(b) How did America dominate the world of music?

(c) What change took place in WABC radio station in 1968?
(d) Before the Beatles what defined the music album?

(e) How was the Shea Stadium show phenomenal?

(f) How did the Beatles affect the world of fashion?

(g) How did the Beatles affect the social and political life?

(h) Which word in the passage means the same as ‘copying’?



Q2. Expand the following outlines into a complete story in about 150-200 words:

Four clergymen......... discuss the merits of Bible translation........ likes the King James Version.......
Language simple and lucid....... Another for American Standard Version....... closer to original Hebrew and
Greeks....... The third likes Moffatt’s translation........ due to its precise words........ fourth one silent........
asks for his opinion......... mother’s translation best....... The three surprised........ want to know his
mean.......... Mother translates it everyday life.......... Most convincing.

Q3. The following passage has not been edited. There is an error in each line. Write the error and
the correction.
Incorrect Correct

The Taj Mahal was built to Shah Jahan (@) ,
in memory of her wife. Construction began in (b) ,
1632 and is completed in 1653. The architect (c) :
was Isa Khan, who comes from Shiraz. The (d) :
beauty of the marble dome and minarets are (e) :
known throughout a world. All ()] ,
visitors is impressed by the (9) :
dream-like beautiful of the Taj. (h) :

Q4. In the passage given below one word has been omitted from each line. Write the missing word and
the word that comes before and the word that comes after it in your answer sheet. The first one has been
done for you.

BEFORE MISSING AFTER

Walking very beneficial to us walking is very
We should get up early the morning @ _

and go for a walk. Those are (b)

used to going morning walks, will find it (©)

impossible to remain bed in the (d)

morning. For them it not so much (e) -

an exercise but pleasure. )] _

Walking is another form exercise 9) -

and can done by anyone at anytime. (h)




EAST POINT SCHOOL
CLASS X
SUBJECT-ENGLISH
PRACTICE WORKSHEET 2

Q1. Read the following passage carefully:

How to beat a Bad Mood
Moods, say the experts, are emotions that tend fixed, influencing one’s outlook for hours, days or even
weeks. That’s great if your mood in a pleasant one, but a problem if you are sad, anxious, angry or
simply lethargic.
Perhaps the best way to deal with such moods is to talk them out; sometimes, though, there is no one to
listen. Modern pharmacology offers abundances of tranquillizers anti-depressants and anti-anxiety
drugs. What many people don’t realize, however, is that scientists have discovered the effectiveness of
several no-drugs approaches to pry you loose from an unwanted mood. These can be as good as
prescription drugs and have the added benefit of being non-toxic and non-addictive. So in moments of
bad Moods try one of these antidotes instead of rushing to the chemists. Of all self-help techniques,
aerobic exercises seem to be the most effective cure for a bad mood. Aerobic exercises such as running,
cycling, brisk walking, swimming or other repetitive activates that boost the heart beat rate, increase
circulation f blood and improve the body’s utilization of oxygen. Just for 20 minutes, three to five times
a week are just that you need.
“Colour can be a nutrient for the mind as vitamins are for the body,” says Patricia, a New York Colour
psychologist. She suggests keeping away from red to defuse irritability and anger. Avoid wearing
colours that make you feel down-black or dark black or dark blue. Go for warm, bright and active
colours that lighten your mood. Neutral colours such as soft shades of blue have soothing, calming effect
and alleviate anxiety and tension. There is reported basic link between food and mood. Carbohydrates
eaten alone stimulate the brain’s production of serotonin responsible for making us feel calm and
relaxed. It is a sort of comfort food with a tranquillizing effect. Eating proteins tends to sustain alertness
and mental energy. The best proteins are shell-fish, fish, chicken etc.
A strong connection has been found between high caffeine intake and increased depression, irritability
and anxiety. People are often depressed when their thoughts are negative and distorted. If you avoid
being critical of yourself and think positive thoughts, you’re actually more likely to feel happy. It is
important to lift oneself out of one’s own self-defeating mood and to take an interest in someone else.

1.1 On the basis of reading of the passage given above, answer the following questions briefly:
(@) Most people beat a bad mood either by talking it out with friends, but sometimes it doesn’t work out because

(b) Aerobic exercise have been recommended to beat a bad mood because

(c) Colours that add to gloom are (i) (i)
(d) If you would choice between carbohydrates and caffeine for a good mood you would choose

because

1.2 Fill in the blanks given below with appropriate words or phrases chosen from the passage.

Self-half techniques Specific Effects
(a) Brisk Walking (@)
(b) Depression among most people is because they are (b)

1.3. Find the words from the passage which mean the same as:
a) Interfere in (Para 2)
b) Reduce (Para 3)



Q2. . Recently you came across a newspaper article depicting diversity of India as its greatest identity. After
reading the article you are inspired enough to write a letter to the Editor of a newspaper expressing your
views on the importance of maintaining unity and integrity for the growth of the nation.

Q3. Complete the following sentences using an appropriate verb form from the given options.

1. We. oo, in this city for ten years.

a) lived b) have lived c) had lived d) were living

2.Didyou .................e him?

a) recognized b) recognize c) were recognizing d) had recognized
3.Noone ...........oeuvnnnnn. what happened to her.

a) know b) knew c) had known d) be knowing
4.Icould................... her if I wanted to.

a) have married b) marry c) married d) be marrying

Q4. The following passage is not edited. There is an error in each line. Identify the error and correct it.
Write the incorrect word and the correction in the space provided.

Incorrect Correct
Then Asoka has admitted something that no victorious a)
king or political leader in front of or after him b)
had ever confessed on. He said he felt remorse C)
on having killed tens of thousands of innocent people d)
for conquering Kalinga. This has not the old warrior e)
Ashoka talking — this was a changed man admit his mistakes f)
and his thoughts of the futility and tragedy of war. )
Ashoka got his words carving in stone to make sure h)

that his message will be forgotten.



1)
2)
3)
4)
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8)
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S)
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Economics
Class X

Assignment -1
Why do banks maintain cash reserve? (1)

How do the deposits with banks become their source of income? [Delhi 2016] (1)

What is meant by credit? (1)
What is meant by 'debt trap'? (1)
In rural areas, the main demand for credit is for which purpose? (1)
What costs are involved in crop production? (1)
When do farmers take and repay loans? (1)

How do banks mediate between those who have surplus money and those who

need money? Explain. (5)
Or
Explain any three loan activities of banks in India. (3)
Or
Explain with examples, how people are involved with the banks. (3)

Assignment -2

Give any two examples of informal sector of credit. [Delhi 2018] (1)
Who supervises the functioning of formal sources of loan? [Foreign 2015] (1)

Prove with an argument that there is a great need to expand formal sources of

credit in rural India. [OD 2016] (1)
Why are most of the poor households deprived from the formal sector of loans?
[OD 2016] (1)
Why is the supervision of the functioning of formal sources of loans necessary?
[2019, OD 2016] (1)
Why do farmers require credit? [2016] (1)

What should be done to reduce dependence on informal sources of credit in rural
area? (1)
Explain the differences between Formal and Informal Sources of Credit. [2016,
2012] (5)
Or



9)

Why are service conditions of formal sector loans better than informal sector?

Explain. [2019] (3)
Which are the two major sources of formal sectors in India? Why do we need to
expand the formal sources of credit? [2012, 2011] (5)
Or
Why is it necessary for banks and cooperatives to increase their lending in rural
areas? Explain. [2019, 2015, 2012] (5)
Or
Why is it necessary to increase a large number of banks mainly in rural areas?
Explain. [2019] (3)
10) "Most of the poor households are still dependent on informal sources of credit."
Explain the statement. [Foreign 2016, 2012] (S)
11)“The credit activities of the informal sector should be discouraged.” Support the
statement with arguments. [Com. Delhi 2018, Delhi 2016] (3)
Or

Describe the bad effects of informal sources of credit on borrowers. [2019] (3)

12)"Cheap and affordable credit is crucial for the country's development." Explain the

statement with five points. [Delhi 2018, 2011] (5)

GEOGRAPHY

WORKSHEET 1

CLASS X

MULTIPLE CHOICE QUESTIONS:

1. Land left without cultivation for one or less than one agricultural year is called
a. Culturable waste land
b. Current fallow land
c. Waste land
d. None of the above
2. The first Earth Summit was held in

a. Geneva
b. New York
c. Japan

d. Rio deJaneiro

3. “There is enough for everybody’s need but not for anybody’s greed”’. Who said this?

a. Jawahar Lal Nehru
b. Atal Bihari Vajpayi



c¢. M.K. Gandhi
d. Sunderlal Bahuguna
4. Whatis ‘Boro’
a. Kharif crop
b. Zaid crop
c. Rabicrop
d. None of these
5. ‘Slash and Burn’ agriculture in Mexico is known as

a. Conuca
b. Milpa
c. ladang
d. Ray

6. Who was declared by Mahatma Gandhi as his spiritual heir?
a. Jawahar Lal Nehru
b. Bhagat Singh
c. Vinoba Bhave
d. None of these
7. Which one of the following public sector plant is located in Chhattisgarh?
a. Bokaro
b. Bhilai
c. Durgapur
d. Rourkela
8. Which one of the following is not a center of Automobile industry?
a. Chennai
b. Bengaluru
c. Jamshedpur
d. Coimbatore
9. Coirindustry is an example of
a. Joint sector
b. Public sector
c. Private sector
d. Cooperative sector
10. Which country has the largest installed capacity of spindles in the world

a. Japan
b. India
c. China
d. Pakistan

Il. Read the passage given below answer the following questions

“Agriculture has been the backbone of the Indian economy through its share in the GDP has fregistered the declining
trend from 1951 onward .yet its share in providing employment and livelihood to the population continues to be as high
as 63 percent in 2001.”

1. Describe the factors which have hindered the pace of agricultural development.
2. What is the value of agriculture in the Indian economy?
3. What steps have been taken by the government to make it more valuable in the country?



lll. Long Answer Type Questions

1. Describe cotton cultivation under the following heads;
i.  Geographical conditions
ii. Uses
iii. Producing states
iv. Position
2. “The Textile industry is the only industry which is self reliant and complete in the value chain’. Justify the
statement.
3. “Planning is widely accepted strategy for judicious use of resources in a country like India.”Justify this statement
with two relevant points and an example.

Map Skills
On an outline political map of India locate and label the following using appropriate symbol
e Salal and Hirakud Dam
e Kalpakkam Nuclear power plant
e Jamshedpur and vijaynagar iron and steel plant
e Noida and Gandhi Nagar software technology parks

WORKSHEET 2
CLASS X
MULTIPLE CHOICE QJUESTIONS
1. Old alluvial soil is called---------
a. Bhangar
b. Khadar
c. Terai
d. Bhabar
2. To what distance do the territorial waters of India extend.
a. 12.2km
b. 22.2 nautical miles
c. 22.2km

d. None of these

Geothermal energy in Puga valley and parvati valley are
Sock resources

Developed resources

Reserve resources

Potential resources

oo T o Ww

Which out of the following is a Zaid crop?
a. Moong

b. Mustard

c. Urad

d. Watermelon



5. Tick the characteristic of commercial farming
a. Plots of land are fragmented
b. Transport and communication plays an important role
c. Theyield is usually low
d. The pressure of population is high on land
6. Jhumming in Brazil is called

a. Lladang
b. Masole
c. Roca

d. None of these
7. Which one of the following agencies, markets steel for the public sector plants?

a. HAIL

b. SAIL

c. TATA steel
d. MNCC

8. Which one of the following iron and steel plant is located in Odisha?
a. Durgaour
b. Bokaro
c. Rurkela
d. Jamshdpur
9. India, is the largest exporter of jute after ---------------
a. Bangladesh

b. Bhutan
c. NepalS
d. China

10. Which is the only industry in India which is self —reliant?
a. Textile
b. Iron and steel
c. Electrical
d. Sugar

Il. Read the pessage given below and answer the questions that follow;

“The main characteristics of this type of farming is the use of higher doses of modern inputs e.g. HYV seeds, chemical
fertilizers, insecticides, and pesticides in order to obtain higher productivity. The degree of commercialization of
agriculture varies from one region to another”.

1. Which type of farming is referred to in the above paragraph?
2. State one crop that is commercial crop in one state but is subsistence cropnin another state.
3. What is the value of this type of farming for the farmers and the country?

Ill. Long Answer Type Questions:

1. Describe the contribution of agriculture to the national economy.
2. Explain why many of our spinners export cotton yarn while apparel/garment manufacturers have to import
fabric.



3. Mention any two human activities which are responsible for the process of soil erosion. Explain the two types of
soil erosion mostly observed in India.

IV. Map Skills

On an outline political map of India locate and label the following by using appropriate symbol

e Tehri and Nagarjuna sagar Dam

e Namrup thermal power plant

e Indore and Coimbatore cotton textile Industry

e Bhilai and Durgapur iron and steel industry

e Thiruvanthapuram and pune software technology park

POLITICAL SCIENCE

ASSIGNMENT 1

Q1 How can you say that democracy is a better form of government?
Q2 Explain democracy as a legitimate, responsive government.

Q3 What do understand by transparency?

Q4 "Democracy helps in reducing poverty and inequality".Justify.

Q5 Why dictatorships have higher economic growth?

ASSIGNMENT 2

3 marks
Q1 Explain the ethnic composition of Sri Lanka.
Q2 Describe the forms of power sharing .

Q3 Name the three countries where participation of women in public life is very high.

5marks
QA4Discuss the features of federalism.
Q5 Explain the functions of political parties.

Q6 Discuss the challenges of political parties.



Q7 How can political parties be reformed.

1.

CHEMISTRY
Dussehra worksheet-1
Class X

Draw the electron dot structure of following molecules:

1) H2S
i) Cl;
i) NH3
iv) COz
V) CH4
vi) N>
vii)  CoHe
viii)  CoHa
iX) CoH2
X) H>

Write the difference between ionic and covalent compounds.
Explain giving reasons why carbon neither forms C** cations nor C* anions, but forms covalent bonds
which are bad conductors of electricity and have low melting and boiling points.

Dussehra worksheet-2
Chemistry
Class X

Case study based questions:

1.

‘X’ 1s a water insoluble compound of calcium. On strong heating ‘X’ gives a colourless, odourless gas

‘Y’ and a white residue ‘Z’. when ‘Y’ is passes through lime water a milkiness forms which disappears

on further passage of ‘Y’. Y’ is also formed when X is dropped in dilute hydrochloric acid. Answer the

following questions on the basis of above observations:

a) Give chemical equation and category of reaction of formation of Y on heating ‘X’.

b) What is milkiness and why does it disappear?

¢) What is Z and what is its name?

d) What happens when X is dropped in dilute hydrochloric acid? Give equation.

There are many natural substances which are acidic or basic in nature. The acid or basic nature of a

substance or solution is determined easily by its pH value. pH scale is a numeric scale ranging from 0-

14. Solutions/ substances having pH 0-7 are acidic while those having pH 7-14are basic. pH, in itself is a

—ve powerto which 10 must be raised to express the H30" ion concentration in mol L™,

Now answer the following questions:

a) An aqueous solution of sodium chloride is prepared in distilled water. What will be the pH of this
solution?

b) What is the nature of saliva before and after the meals?



c) The tomato juice has pH= 4, which acid is present in the juice?
d) Which of the following substances will have pH greater than 7
Lemon juice, tooth paste, baking soda solution, gastric juice, curd, human blood.

3. About 3/4™ of the total known elements in the periodic table are metals which have some characteristic
properties such as hardness, lustre, high melting point, etc. they also have chemical properties different
from those of non-metals.

a) Give example of a metal which does have bright lustre?

b) Write name and chemical symbol of metal which has melting point so low that it can melt on your
palm?

c) Give example of a metal which is poorest conductor of heat?

d) Name two metals which are used in electrical wires.

4. Atomic properties such as atomic size, valency, electronegativity etc. show regular gradation among the
elements present in the group from top to bottom. Similar gradation in properties is observed among the
elements of the period from left to right.

Answer the questions after reading this paragraph.
a) Which group of the periodic table contains the most electronegative element? Write the name of the

element.

b) Which period of the periodic table contains the least electronegative element? Write the name of the
element.

c) Which period of the periodic table contains metallic element with largest atomic radius? Write its
name.

d) Which group of the periodic table contains element of 2" period having lowest valency?

BIOLOGY
CLASS-X

WORKSHEET-1

MULTIPLE CHOICE QUESTIONS

1. The F2 phenotype ratio of a monohybrid cross studied by Mendel is
al 1:1 k) 21
c) 31 d) 401

2. If T is for tallness and t for dwarfness, what shall be the genotype of a tall pea plant according to Mendelism?
a) TT b} Tt
c) Either TT or Tt d) tt



3. A Yellow and Round seeded pea plant has genotype YyRr. The gametes produced shall be
a) Yy, Rr b) YR, yR Y, yr
YR yrd) Y. v Ror

4. If in human a sperm (22+Y) fertilizes an egg (22 +X), the sex of the foetus shall be
al Male b) Female
c) Either male or Female d) both

5. TT Pea plant is crossed to tt plant. F2 generation will have
A] All tall plants

B] Tall and dwarf in the ratio of 3: 1
C] Tall and dwarf in the ratio of 1 : 2
D] Tall and dwarf in the ratio of 1 : 1.

6. The number of autosomes in a human body cell is
a) 44 b) 46
c) 22 d) 23

7. A pure tall Pea plant is crossed with pure dwarf Pea plant. The progeny is self-pollinated. The ratio of true breeding tall
Pea plants to true breeding dwarf Pea plants shall be
Al 2:1 B]1:1 C] 3:1 D] 1:2

8. Pure-bred pea plant A is crossed with pure-bred pea plant B. It is found that the plants which look like A do
not appear in F1 generation but re-emerge in F2 generation. Which of the plants A and B are tall and dwarf?

(@) A are tall and B are dwarf.
(b) A are tall and B are also tall.
(c) A are dwarf and B are also dwarf

(d) A are dwarf and B are tall

9. Surgically removing tails of mice over several generations’ do not yield mice without tails.
This proves that

a) Cutting tail does not cause genestic change. 5o it not inherited.

b} Acquired characters during one’s own life are not inherited.

c) Meither a nor b is correct

d) Both a and b are correct

10. In humans if gene B gives brown eyes and gene b gives blue eyes, what will be the colour of eyes of the
persons having combinations

(i) Bb and (ii) BB? .
(@) (i) Blue and (ii) Brown

(b) (i) Brown and (ii) Blue


https://www.toppr.com/ask/topic-questions/2513507/#medium
https://www.toppr.com/ask/topic-questions/2513507/#medium

(c) (i) Brown and (ii) Brown
(d) (i) Blue and (ii) Blue

11 . A cross between two individuals results in a ratio of 9 : 3 : 3 :1 for four possible phenotypes of progeny.
This is an example of a

(a) Monohybrid cross

(b) Dihybrid cross

(c) Test cross

(d) F1 generation

12.. Which of the following characters can be acquired but not inherited?

(@) Colour of skin (b) Size of body (c) Colour of eyes (d) Texture of hair

13. The number of pairs of sex chromosomes in the zygote of a human being is
(a) 2
(b) 3
(€1
(d)4

14. A zygote which has an X-chromosome inherited from the father will develop into a
(@) qirl

(b) boy

(c) either boy or girl

(d) X-chromosome does not influence the sex of a child.

15. What does the progeny of a tall plant with round seeds and a short plant with wrinkled seeds look like?
(@) All are tall with round seeds.

(b) All are short with round seeds.

(c) All are tall with wrinkled seeds.

(d) All are short with wrinkled seeds.

16. Which of the following characters can be acquired but not inherited?
(@) Colour of skin

(b) Size of body

(c) Colour of eyes

(d) Texture of hair

17. Differences between organisms in a species are described as variation. Which of the following would you
describe as continuous variation?

(a) Hair colour

(b) Eye colour

(c) Weight

(d) Sex



18. Which of the following decides the sex of the child?
(a) male gamete, i.e., sperm

(b) female gamete, i.e., ovum

(c) both sperm and ovum

(d) mother

19.1f a round, green seeded pea-plant (RRyy) is crossed with a wrinkled yellow seeded pea- plant (rrYY), the
seeds produced in F1 generation are

(@) round and green (b) round and yellow

(c) wrinkled and green

(d) wrinkled and yellow

20. To study the natural phenomenon of inheritance, Mendel selected the pea plants. Which of the following
properties were suitable for their studies?

(i) Plants would easily self pollinate or cross-pollinate in nature.

(ii) Plants were easily grown in garden soil with a considerably shorter generation time.

(iii) Pea plants do not require the true-breeding for hybridisation experiments.

(iv) Many parts of the plant such as pod, seed, flower, cotyledons showed distinct phenotypes.

@) (i), (i) and (iii).
(b) (ii) and (iv).

(c) (i) and (ii).
(d) (i), (iii) and (iv).

DUSSEHRA BREAK WORKSHEET-2

WORKSHEET -2

Fill in the Blanks

1. The study of the pattern of chromosomes from parents to the offspring is called ........... .

2. In Mendel’s experiment, the trait which did not appear in the F1 generation was said to be ............. .
3. The number of X chromosomes in a human ovum is ........... .

4, i, proposed the “Theory of Natural Selection”.

5. If a sperm carrying ‘X’ chromosome fertilises an ovum, then the child bom willbe a ........... .

1. A pea plant pure for yellow seed colour is crossed with a pea plant pure for green seed colour. In
Flgeneration, all pea plants were with yellow seeds. Which law of Mendel is applicable?



2. In one of his experiments with pea plants Mendel observed that when a pure tall pea plant is crossed with a
pure dwarf pea plant, in the first generation F 1 only tall plants appear. What happens to the traits of the dwarf
plants in this case?

3. Write the scientific name of men and garden pea.
4. What is Heredity?

5. A Mendelian experiment consisted of breeding pea plants bearing violet flowers with pea plants bearing
white flowers. What will be the result in F1 progeny? [CBSE 2018]

ASSERTION AND REASONING

Direction (Q31 to Q36): In the following Questions, the Assertion and Reason have been put forward. Read the
statements carefully and choose the correct alternative from the following:

(a) Both the Assertion and the Reason are correct and the Reason is the correct explanation of the Assertion.
(b) The Assertion and the Reason are correct but the Reason is not the correct explanation of the Assertion.

(c) Assertion is true but the Reason is false.

(d) The statement of the Assertion is false but the Reason is true.

31 Assertion: When pure breed tall plants are crossed with pure breed short plants, all the plants in F1 progeny
are tall. When the tall plants of F1 progeny are crossed, short plants re-appear in F2 progeny.
Reason: Traits are independently inherited.

32. Assertion: Variation is high in sexually reproducing organisms compared to asexually reproducing
organisms.
Reason: Inaccuracies during DN A copying give rise to variation.

33. Assertion: Acquired trait cannot be passed on from one generation to next generation.
Reason: Inaccuracy during DNA copying of acquired trait is minimum.

34. Assertion: Human, frog and bird have a common ancestor.
Reason: Limbs of human, bird and frog are homologous.

35. Assertion: Speciation is the reproductive isolation amongst once interbreeding population.
Reason: Genetic drift, Natural selection and Severe DNA change can cause speciation.

PHYSICS
TOPIC:MAGNETIC EFFECTS OF ELECTRICCURRENT
WORKSHEET 1

State the effects of current.
Why does a compass needle placed near a current carrying wire show deflection?

How can the magnetic field produced around a current carrying conductor be detected?

H 0w e

Give one example each of the following:- (a) magnetic effect of electric current (b) electric effect of moving magnets



10.

10.

L o N o

Define magnetic field.
Give the characteristics of magnetic field lines.

With the help of an activity show how magnetic field lines around a bar magnet can be obtained. Also draw the pattern of
magnetic field lines around a bar magnet.

How is the deflection in the compass needle affected as we move it along a field line (a) towards the poles (b) away from
poles.

State the factors on which strength of magnetic field due to a straight current carrying conductor depends.

“the concentric circles representing the magnetic field around a current carrying straight wire become larger and larger as we
move away from it.” What conclusion can be drawn from this statement?

Name and state the rule to determine the direction of magnetic field produced around a current carrying conductor.
Two magnetic lines of force do not intersect each other. Why?

Draw the pattern of lines of force due to a magnetic field through and around a current carrying loop of wire. How does the
strength of magnetic field produced at the centre of the loop be affected if:-

a. strength of the current passing through it is doubled?

b. the radius of the loop is reduced to half the original value?

c. theradius of the loop is doubled its original value and at the same time current passing through it is also doubled?
What does the arrow of the magnetic field line indicate?
What does crowding of field lines at a point mean?

Will a circular loop of bigger radius produce higher magnetic field than a loop of smaller radius if current flowing though both
the loops is same? Give reason.

What is a solenoid?
Draw comparison of magnetic field pattern due to current carrying solenoid and that of a bar magnet.
The field lines inside the solenoid are in the form of parallel straight lines. What does this indicate?

What is an electromagnet?

WORKSHEET 2
How can we magnetise a piece of magnetic material?

Show with the help of an activity that a force is exerted on the current carrying conductor when ti is placed in a magnetic
field.

State the rule which is used to find the direction of force exerted on a current carrying conductor when placed in a magnetic
field.

A charged particle experiences minimum force when it travels-

a. parallel to the magnetic field  (b) normal to the magnetic field

(c) at 45° to the field (d) at 75° to the field.

The magnetic field due to a long straight conductor carrying current is independent of

a. thecurrent (b) distance of the conductor from the point (c) length of the conductor (d) none
Give a few applications / uses of electromagnets in daily life.

What is electromagnetic induction?

State the rule which is used to find the direction of induced current.

How can current be induced in a coil? (State different ways of inducing current in a coil)

A bar magnet is moved towards a solenoid whose ends are connected to a galvanometer? State your observations and give
reason for the same.



Mathematics Work sheet

Due to heavy storm an electric wire got bent as shown in the figure. It followed a mathematical
shape. Answer the following questions below.

i) Name the shape in which the wire is bent
a) Spiral b) ellipse c) linear d) Parabola

ii) How many zeroes are there for the polynomial (shape of the wire)
a) 2 b) 3 1 d) O

iii) The zeroes of the polynomial are
a)-1,5 b) -1, 3 c) 3,5 d) -4, 2

iv) What will be the expression of the polynomial?
a) x2+2x-3 b)x? —2x + 3 c)x? —2x—3 d)x? + 2x + 3

v) What is the value of the polynomial if x = —1?
a) 6 b) -18 c) 18 d)o

Class X students of a secondary school in Krishnagar have been allotted a rectangular plot of a
land for gardening activity. Saplings of Gulmohar are planted on the boundary at a distance of
1m from each other. There is a triangular grassy lawn in the plot as shown in the fig. The
students are to sow seeds of flowering plants on the remaining area of the plot.
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Consider A as origin



10.

11.

12.

13.

14.

15.

ii)

iv)

Considering A as the origin, what are the coordinates of A?
a) (071) b) (170) C) (070) d)(_]-,_]-)

What are the coordinates of P?
a) (4,6) b) (6,4) c) (4,5) d) (5,4)

What are the coordinates of R?
a) (6,5) b) (5,6) c) (6,0) d) (7,4)

What are the coordinates of D?
a) (16,0) b) (0,0) c) (0,16) d) (16,1)

What are the coordinate of P if D is taken as the origin?
a) (12,2) b) (-12,6) c) (12,3) d) (6,10)

Show that the points (a,a) , (-a,-a) , (-V3 a, V3 a) are the vertices of an equilateral triangle.
The x coordinate of a point P is twice its y coordinate. If P is equidistant from Q(2,-5) and
R(-3,6) then find the coordinates of P.

If P and Q are two points whose coordinates are (at2,2at) and (% Z—ta) respectively and S is the

point (a ,0). Show that S—; + % is independent of t.

Prove that the points(-3,0) ,(1,-3) and (4,1) are the vertices of an isosceles right angled
triangle.

The angle of elevation of a jet plane from a point A on the ground is 600 .After a flight of 30
seconds .the angle of elevation changes to 300.If the jet plane is flying at a constant height of

3600v3.Find the speed of the jet plane.

PQ is a post of given height a, and AB is a tower at some distance .If aand fare the angles of
elevation of B,the top of the tower ,at P and Q respectively .Find the height of the tower and
its distance fr2om the post.

Prove the following identities :

sinA + tanA
1—cosA 1+cosA

= secAcosecA +cotA

sinA 1+cosA
+

- = 2 cosecA
1+cosA sin A
If tanA +sinA = m and tanA -sin A=n then show that m2-n2=4ymn
If sec A =x +ﬁ prove that secA +tan A= 2x or %

If the equation (1+m?2)x2+2mcx +(c2 -a2)=0 has equal roots prove that c2 =a2 (1+m?)
If the roots of the equation (b-c)x2 +(c-a)x+(a-b) =0 are equal then prove that 2b = a+ c

The sum of first six terms of an A.P. is 42. The ratio of its 10th term to its 30th term is 1:3 .
Calculate the first and the thirteenth term of the A.P



16. A man on the top of a vertical tower observes a car moving at a uniform speed coming
directly towards it.If it takes 12 minutes for the angle of depression to change from 300 to 4350
,how soon after this ,will the car reach the tower?Give your answer to the nearest second.

17. From a window 15 metres high above the ground in a street ,the angles of elevation and
depression of the top and the foot of another house on the opposite side of the street are 300

and 450 respectively show that the height of the opposite house is 23.66 m(v3=1.732)
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